P 7 AN
?Uﬁ% E a fyra brak, decimaler, ordningsfoljd

namn: Datum: Poéng:

1 3 1 3
3,4+ - x2+ 2= 4,3+12% = +4+3 x> =
, 4 X 5 R X 3 X 4

4,9-4x4—12x4,3+4= §+L9+4Xl2=

2 2
5,6+25><§+5—3>< = 12+¢8+4x§=

W —

= %+¢2x5+20x14+5=

1 3
2,7+ =x3—-8x =+2
’ 2 4

1
5,4+§+5><5,1=
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fyra brak, decimaler, ordningsfoljd

namn:

NS} Ne}
I
N

N —

1
3.4+ - x2+
’ 4

| W

4,9-4x4—12x4,3+4=(-24)

2
5,6 +25 % §+5—3><

1 3
2,7+ -x3=-8x -2
’ 2 4

| N

Il
[
DN —

Datum: Poéng:
151 11
4,3+12><l+4+3><é=i= —
3 4 2 20
3 66 1
—+2,9+4x22=—=13=-
2 ’ ’ 5 5
2 48 3
3,2+4,8+4x 2= — =92
’ ’ 5 5 5
3 361 1
—+4,2x5+2 4+5=—=36—
5 H42x5420%3,455 =2 =365
1 937 7
4+ -+ l=—=31—
% 3 2%, 30 3 30
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